restart
AA:= array([[1,1],[-1, 1]])

w11

with(linalg) :
MatExp := exponential (AA, t)

MatExp :=
-é'sin(t) € cogt)

d cogt) d sin(t) ‘

DerMatExp := map(diff, MatExp, t)

t r .. r . t
e cogt) —esin(t) e sin(t) 4+ e cogt
DerMatExp := s ® (1 . )‘

-d'sin(t) — € cogt) € cogt) — € sin(t)

MatOrig := map(rcurry(eval, t ='0"), DerMatExp)
11
-11

Xcero:=[ 8 -8 ]

MatOrig :=

Xcero := array([8,-8])

Solucion := evalm(MatExp &* Xcero) : xx(t) = Solucion;; yy(t) = Solucion,
xx(t) =8 é cogt) — 8 dsin(t)
yy(t) = -8 ésin(t) — 8 & cogt)

Sstema := diff (x(t), t) =x(t) +y(t), diff (y(t), t) =-x(t) + y(t) : Sstema,; Sstema,

d

ot (O =x(1) +y()
d = -
g YU =Xy

Condiciones:= x(0) =8,y(0) =-8
Condiciones:=x(0) =8,y(0) =-8

SolPart := dsolve( { Sstema, Condiciones}) : SolPart;; SolPart,
x(t) =€ (-8 sin(t) + 8 cost))
y(t) = -€ (8 cost) + 8 sin(t))

Comprobacion, := simplify( eval(subs(x(t) = rhs( Sol Partl), y(t) = rhs( Sol Partz),

Ihs(Sistema ) — rhs( Sistema, ) =0) ) )

Comprobacion, :=0=0

Comprobacion,, := simplify( eval(subs(x(t) = rhs( ol Partl), y(t) = rhs( ol Partz),

Ihs( Sistema, ) — rhs( Sistema,) =0) ) )

Comprobacion, :=0=0

restart
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AA:= array([[1, 1], [2, 2]])

. 11
122
with(linalg) :
MatExp := exponential (AA, t)
2,11 1
3t3% 3¢ 73
MatExp := ) s 1 )
2 3t 2 1 2 3t
3¢ "3 373°¢
Xcero == array( [ %y ¥o))
Xcero:= [ % yo]

SolGral := evalm(MatExp &* Xcero) : X(t) = SolGral; y(t) = SolGral,

X(t) =(3 4+ e3t) Xy + (i St L

3 ' 3 3 3
_(2 3t_2 1.2 at
y(t)—(se 3)x0+(3+3e

Sstema := diff (x(t), t) =x(t) +y(t), diff (y(t), t) =2-x(t) +2-y(1) : Sstema,; Sstema,

d . _
0 X0 =x(0) +y(D

d

ot YO =2x(1) +2y(1)

SolucionGeneral := dsolve( {Sstema}) : SolucionGeneral,;; SolucionGeneral,

x(t) = Cl+ C2¢é"
y(it) =2 c2e'— c1
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